1202 - 8102

‘y3A ‘oavoiad d&CJ
1¥NOINLILSNOD OLNIIWVLNAAY

IVdIDINNW ODIANIS
31L0D0 INVYILOD NYITINr D

1202 - 8102

24] négzb?&oa_mumm

H3H NYfHaY D

IVAIDINNW I INIAIS3H
SONWVYH O_ZO._.Z< HOTTS] L

yz0T-9102

-43A ‘0Qv9130 13VVY
JYNODOLUSNOD OLNIUWNVANOAY W
—F...#wm.nom.mm 98'98¢°252°G9$ 98'98¢€°/52'69$ 09°LL0'G9P'89$ 18°266'€90°L$ 6L°€LO'LOYV'L9$ 0JSED) [9p |BJO L
- - - - - - sauoidedidiued|
L L L " " - sauoloenqnr A mmco_m:mn_—
i 8.TLZ'¥T9'LS 8LZIZ'Y¥Z9'LS 8LTLZ'YTY'LS €2'22.'016'2-% L0'GEB'VES VS soAised ap ugidnuiwsIp A epnap e| ap ugideZILOWY|
G0'0% Ly'BG'GEE'6ES L'6G1'GEE 6ES 9’651 'GEE'6ES L//00'88€E'L$ SLLGY'L¥6'LES leyide) ap Swmw_
f6ovee'L0z'es 19'71L2'162'¥2$ L9¥LL' 16T VES 9€'6€€'605'L2$ £E'TLL'985'C8 £0°'/29'816'¥Z$ 9JUsLLI0D O}SED)
(r-€)=9 S 4 +1)=¢ z I
! SauoIoNpay
oviassleqng opebed opebuaaag OpesyIpON | sauooeldwy opeqoudy ojdasuon
sosalbg ;
ey
8102 9P 21qWBIJIP 8p L¢ |B 0JaUd 3p | [ap
(o3se9 ap odi) Jod) eo1wouoa3 UQIoeIISEe|D HEAVINDIS
sosai63 ap ojsendnsaid |ap 01912.3[3 |9p oonijeuy Ope}s]
¥IA'0AVO13A 13VAVY 30 OLNIINVINNAY H
€ { ! = 0 f £ € = ¢ 0 £ @ - t (&



